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NOTE: Write answers to the guestions on objective answer sheet provided. Four possible answers A,B,C & D to each
guestion are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each

question with Marker or pen ink on the answer sheet provided.

x+2 x+2
1.1, Partial fraction of (x+1)(x2 +2) are: ila.ér. f:: ..... ;ffjs)?;f (x+1)(x2 +2) g
A B A Bx+C Ax+B C A Bx
(A 331 42 ® 11 2 © x4 rez O .
2 Theset{x/xewa x <101} is: _{_tu.,f{x;’xew;\ x<101} 2
(A) infinite set Lr§l3F  (B) sub set 4 (C) nullset (b (D) finite set LS

3. |f the number of elements in set Ais 3 and in setBis 4, then
number of elements in AxB is:
(A) three ;_,f (B) four b

4 A data in the form of frequency distribution is called:

(C) seven

(A) range =*

(B) Histogram 2d¢  (C) ungrouped data a8+ # (D) grouped data s/

d’uhﬁ-lutAxa?,me.B.up,:s,lﬁbfusoru:;\;.:ﬁ 3

-c‘_:ﬁmuﬂ"
(D) twelve /i
et BTG 4

=

ir T

5. —‘“radians is equal to: _f_ziw:%‘.—__i— 5
7 Vi o __(B). 1158° (©) 138 (D) 150°

6. A complete circle is divided into: ’ -.:..'E\?'\_{T"I-_? s }l,v‘; B
(A) 90° (B) 180° () 270° (D) 360°

7. Acircle has only one ¢ e T e gj-..;.f*...iﬁo"_..}'».{l 7
(A) centre 77 (B) secant 2o (C) chord # (D) diameter #

8 A 4cm long chord subtends a central angle of 60°. The radial o e Fligsti {so”,;;:}},m,dg{q.; 8

segment of this circle is:

(A) four ¢ (C) two

(B) one LI
9. Tangents drawn at the end points of the diameter of a circle are:

(A) parallel  Jii# (B} perpendicular st (C) intersect

10. A line intersecting a circle is called:

I {7 R ¥
(D) three L,fn
_ng_ﬂ,’v’{u:/l.ﬁig.z’b 9
(D) non collinear ul‘iﬂf-f

G vl b t/fd” ;f,_-_, 7 10

ing Cf’b‘

(A) tangent UV (B) chord s (C) secant 6k (D) boundary
11. Standard form of quadratic equation is: - _,ﬁd;__hfu(.-.l.-uﬁu» 44
@A) bx+c=0,b%0 (B) al +bx+c=0,a#0 ) ax’=bx,a=0 o @ =0.a#0
12. Product of cube roots of unity is: -q...,,/b‘"b{,-ﬁuigij'e’l A2
wo > 81 & © 1 S5 o 3 £

43 1fb* —4ac <0, then the roots of a4 byrc=0are - plnhl ax’ +bx+c=0znled b —4ac<0 /i 13

(B) rational %

Ps

(A) irrational 17

14 1<V’ then:

(C) imaginary 35‘}:

(D) natural s

?n“m"’zﬁ 14

ik

(A) u=V" ®) u=k’ ) w’ =k o) w' =1
15. Find"x" in proportion Jix15118. _Ugj,/*}*’"x"ui4:.‘c::5:15.__/$ 15
75 4 2
A g B) 3 (€) 12 D) 4
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Mathematics

$.8.C - (Part-II} .A-2019
( For all sessions )

Group-1-
(ScienceGmup) (Essay Type)

Hours 52:10:.:3:
section -1 2x18=36

2. Write short answers of any six parts from the following.

Marks: 60 Time:2:10

2x6=12

i. Define quadratic equation with an example.

ii. Solve: 4—32): 2195

ji. Find nature of roots of:

iv. Evaluate: W

v. Without solving find the sum and product of. x4+ Tx-11= 0

vi. If @, are the roots of the equation 3.;2 +px+qg= 0, then
calculate a” + Jii
vii. Define direct variation.
viii. Find mean proportional between 20x°y* , 5%’
ix HAOCf:; andA=2whenr‘=3,ﬁnd?‘vm|anA=72 A
3. Write short answers of any six parts from the following.
i Define improper fraction.
ii. Convert the given improper fraction into proper fraction. —;1 W)
ji. Findaand bif.

X2 =23x+120=0

3x1 -2x "-_1

(a-4,b-2)=(21)

(LN (V) Y
60:/4.

Jito
,Lg,&fgylzﬁﬁflzsgaﬂéf;.;dm» 2

et S AT
sgdS

e i
gl N

_q,’?#’&,ﬁd‘wsuyf gLl S v
€35 +px+q=0;ist/)8=a/f! RV
Ly hedfat B Iun

NS f’&—/uf’ i

g N

1 5
_.:__As’.-'Z,éL{ﬁ'}"r-‘ar:B‘,;:A =244% 57 ix
2x6=12 _;{)}f:«glzﬁﬁplzigpéfc_tﬁdsbu ;

P IET S
—uffub.f'uﬂ/-.»?h#wvf&%: i
ﬁz_‘é}#’w’f—J bsia i

iv. Find the number of elements in Y x X and )fx XifX= {a,b,c} Y= {d,e} :ﬂé})”:lﬂ\fu{ﬂui XxX 2Yx% X

v. Define binary relation.
vi. Define the bijective function.

vii. Define variance.

S fSwie
oY\t
- ,zr-—i.’fjtgcf-/cgv

viii. Find the range of given weights of studems.110,109.84.89,77,104,74,97.49,59,103,62 _Uf)}}*’;,VJuU;nié_.:Lp& il

ix. Find Arithmetic mean py direct method for the following set of data.

e B S b b A BIL3T X

200.225,350,3?5,2?0,320,290

4- Write short answers of any six parts from the following-

i. Define quadrantal Angle.

137
ii. Convert T(:)— into degrees.

iii. Find @, when:

(=2cm,r= 3.5¢cm

2x6=12 _L;)}}'..-.uz;f”é,lmgz.éf;.L;inz_w -4

- u?ﬁgé.-ﬂ}e’}) 5
i 137
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iv. What is meant by zero dimension? Sespfe P W
v. Define collinear points. ' _z:,{_:f f&m’br" R
vi. Define tangent of a circle. SIS N
vii. Define chord of a circle. _4(,@ /Jd’ 5l s s Vil

viii. Define sector of a circle. } "4}(...& /Jd/ufbf,'s/ 2 il
ix. Define regular polygon. ' _’c_;{._.i_: FASA ) B0E, ix

, Section -II r»..:p

Note: Attempt three questions in all while Q:No.9 is compulsory: 8x3=24 .@dﬁﬂsﬁdlr.éq&fagiﬁﬁamrdf Or

5. (a) Solve the equation. Jx+3=3x-1 _.'c-iﬁ:.bL/ () 5
- (b) Find the value of h using synthetic division if 3 is | & e =i h LJWFL(-T-; s (o)

the zero of the polynomial. 2x° =3hx* +9 17011 J;/ff '3k
6. (a) Using componendo-dividendo theorem solve the equation: Wj/ff;bv.:.dv?!é.:,?ﬂ_ff S () 6

7.

9.

(x+5)“’ —(.7:—3:)3 _13

(x+5)3+(x-—3}3 14

(b) Resolve into partial fractions: ) i;xs_ 3 _2;{}-’? U:J/ gz (....,)
(@) Verify that: (aNB)NC= AN(BNC) i A(4anB)NC= AN(BNC) Jgtp.ﬁ- .7
U={1,2,34...10} , 4= {1,3,5,1.9} , B= {1,4,7,10}.C = {1,5.8,10}
(b) The marks of the six students in the Mathematics are as st Sl FuluF s (&)
follows. Determine "Variance". LS
Student No. 1 2 3 4 5 6 j
Marks 60 70 30 90 80 42
. : M—Lﬂ=4tan9mc9 iy (S
(a) Verify that: [—sind 1+sin0 ; S £ () 8
(b) Inscribe a circle in a triangle ABC with sides given below. f o 5EaueUdL WolC 1 G tw A€ AABC ()
Also measure its in-radius. lABl = Scm,lBCl =3cm ,\CA[ =3cm _e;’-{('}”ur)m"w 7
Prove that "perpendicular from the centre of acircle on a “%,rf.j_»_"’“ Stz s Il S ’4_:{..-.4? 9
chord bisects it' OR L

Prove that any two angles in the same segment of a circle are equal. Ut Lzl Bisfs ssB s tlng i et
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Mathematics (Science Group)(Objective Type) Group-Il- -/ (u",/*)(.,.,fu—"'u)d' b
Marks: 15 Time: 20 Minutes &2 20:5 15/

A 361z -.:-m.,{f:r..,r:?u)«ugéfé.:Dnl,C‘B,A\:.Qlﬁ.-ﬁ_lgl.dlm2:!%LéKL}izu"s/“Cfd;c.giﬁ[..:.lJirrL?th
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A.B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided. '

1.1, The quadratic formula is: RIS 14
~b+b? —4ac bt b’ -dac ~b+b? +4ac b++/b? +4ac
(A) X= B) r=————— {C) *% D) *~~" 7" N
2a 2a 2a 2a
2. a’+ fis equal to: _lg,;ualﬁ‘ﬂz 2
w @ = ®) ;%;;T © (a+B) 26 — @ @t
3. 1@ f are the roots of x* —x—1=0then product €20 .4 2a ?urfujul. X —x-1=0czb- pB.a 43
of the roots 2@ and 2/ is: _lgrx.fﬁ_,%
(A) -2 (B) 2 ; (C) 4 (O) 4
4 lfa:b=x:Yy then alternando property is: _cl..éédbyl?x ab=x:y z’il 4
a_b a_x a+b, x+y a-b _x-y
{A);_'}j (B) _b-'”; © 5y ) — __y_
5. In a proportion a:b::c:d, "a" and "d" are called: --._)gl.ikr”d Aagtabicdart 5
(A) means o3 (B) extremes A (C) third proportional w1 (D) fourth proportional R 7
x+2 x+2
6. Partial fractions of (x+ 1)(x2 + 2) are of the form. d-.,,[?_Jm,(r‘:’.-w-;/d:Zuf (x+ 1)(:::2 3 2) 6
4B A Brx+C Ax+B _C A Bx
W i 42 B 1 F+2 © yi1 P42 ® T3 2
7 If number of elements in set "A" is 3 and in set "B" is 4, then quxB;ﬂ"4”u':"B"..‘.»_'xsl"3";U;’Jc)KM:"A":{IF 7
number of elements in AxB is: _.;_Jmuﬁtfu%ﬁrl
(A) 3 B) 4 (©) 12 o 7
8 If number of elements in set "A" is 3 and in set "B" is 2, then @l;;Jt‘-‘f.AxB?,«zucBm3,1)50”@51&'#*_»;;7 8
the number of binary relations in AxB is: _.f_.JmIp"J
(A) 2° B) 2° ) 2 D) 2?
9. A frequency polygon is a many sided. . . CISUIke SE w25 9
(A} closed figure J  (B) rectangle I (C) square (D) triangle &A%
10. 20%is equal to e 41220° 10
(A) 360 (B) 630 (C) 1200 (D) 3600
11. Locus of a point in a plane equidistant from a fixed point is called: _c‘-t;k*fuﬁgéﬂiz.uaﬂdﬁ?&:Kb'@?(iiﬁdﬁ“ A1
(A) Radius 1 (B) circle &7l (C) circumference k¥ (D) diameter #
© 12, Tangents drawn at the ends of diameter of a circle are____to each other, -Ufd-si-—--- 8- !'V"Llef.e’f;’,;u,/i Bl o A2
(A) parallel ($## (B) non-collinear b?/_ﬁf (C) collinear L5 (D) perpendicular st
13. The length of a chord and the radial segment of a circle are congruent, :‘f,.c_Fs--,[_?zF/.uELJJer.-I};uf;..’fb.{f 13
the central angle made by the chord will be: Mg SRS
(A) 30° (8) 45° (©) 78° o) 60°
14. How many common tangents can be drawn from two touching circles? ?;,r_rzégz.wvz?f&w;uz.ﬁ;/(ﬁ; 14
(A) 1 (B) 2 © 4 o 3
15. How many tangents can be drawn from a point outside the circle? ?ujé@ggfu‘fc.ﬁ,ﬁ&b}b 15
(A) 1 (B) 4 © 3 (D) 2
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Roll No.___ < /obmed ( For all sessions )
L]
Mathematics (Science Group) (Essay Type) Gm“p‘“g-"f (;&Jl)(_;,fu*v) UJL'J
Marks: 60 Time:2:10 Hours & 2:10:5% 60: 7
Section -1 2x18=36 Jito
2. \Write short answers of any six parts from the following. 2x6=12 ,L,_r)}f.-.-.glzﬁ"éfimgc_éf;.;ﬂd S 2
i, Solve the quadratic equation. ’ 3x=T7x-20=0 _fof;:vﬁ;;s; i
ii. Define exponential equation. -aj-:@ ,?-’J..:o,lsk/;}i.f.;,,-" i
iii. Evaluate: w e w _g[('}#;,f i
iv. If @, are the roots of the equation 4x’ —=5x+6=0, then J‘u..f. 4x? —5x+6=0=h a.p v
find f‘+l /,J-V..,F(I+l”
the valueof— T 7. L S —F e Y
in eauoaﬁ e “Urxﬁd
v. Write the quadratic equation having roots 2,-6. -UKZf—GuJuLu)'E;.“U:—';Vg;J::: v
vi. Use synthetic division to find the quotient and remainder when: ;,n_-.x‘l)’u.z_,fz.ﬂv?lff?f{} vi
(4.\:3 —-Sx+15)+(x+3) __._QJ',?}#,;{.@

vii. Define inverse variation. - S fuﬂ;ﬁ’__/? il
viii. Find a third proportional of X+ and v B ,%»A&/t:-w: € x2 =y mX+y vii
ix. If yocx’ and y =81lwhenx =3 findY whenx=35. x=5.__,::’4_§‘|:)-":,Eu(.‘r’sx=3.._.->.y-—'8]»1_1f::: S A x
3. Write short answers of any six parts from the following. 2x6=12 4J_)} ;@&'ﬁﬁ&?lzjgblj’(& u:d_j its .3

3 z
i. Resolve into proper fraction. 6 4 ox ~] ISR TS L
1 3x* -2x-1 . 1
ii. Resolve into partial fractions — + _eéz,%f;/ﬁs:zf = i/ i
X - 7 ¥ -
ii. Define one-one function. _Uj/_,y/‘?{fuif'one@ne i
iv. fM = {d,e, f.g} then find two binary relation in MxM e Mx MM = {d.e,f.g} Aiv
v. Find "a" and "b" if: (2a+5.3)=(7,b-4) S S S bt
vi. Write Dom f and Rang f if: f= {(0.1]9(1,2).(2,3),(3,4)} . /ice#*Range f.Domf vi
vii. Define Mode. SISk i
viil. Find the geometric mean of the observations by using basic formula 2,4,8 _&;.'Zr:” R f._-,qus-z_ﬁz./i,'wﬁw:g viii
ix_ Find mean (Arithmetic mean ) of the observations 34,34,34,34,34,34 ket i
4- Write short answers of any six parts from the following. 2x6=12 _u_')}/‘-:.l,lﬁ/gﬁflzlgc.éfc.uh}_m» -4
i. Define an angle. _é-“if/_@/?u;su N
" ji. Convert25%3(0" to decimal degrees. _a:.f-(J_'A,F-,’fd;}J:“ﬁf 25930 i

P J;I/

iii. Find the distance travelled by a cyclist moving on a circle of radius 15m, if AR h;}I:_Qleff'v..Q

he makes 3.5 revolutions. i'g’;L}f‘;"fLurlz_.lz_;té/E3_5m
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iv. Define projection of a point. 2 .»74‘-(.4 Pl Frus v
v. Define a circle. ,%@r_@ﬂﬁju R,
vi. Define secant of a circle ..u:’{..fsj/‘?u(&id’ﬁ‘f.e/’b i

_ vii. Define arc of a circle -é(qﬁg'u}a.’_;}u Vi

viii. Define chord of a circle. _ =y F5 L Vi
ix. Define Polygon. -g._iy }7;'; L !Lhui/ff ix

Section -1I (s3>

Note: Attempt three questions in all while Q:No.9 is compulsory: 8x3=24 -‘qus/{'dnr,éq);iapg[..:.mmfd' BOY

2x+1 x-2
5. (a) Solve the given equation by using quadratic formula. ) ™ e =0 _gfc.db?!cﬁ_':ﬂ b amitl-ds () 5
IO , : - 2 y, .
(b) Prove that: <y 4z xyz—a(x+)+z)(x+u-} + W z](x+ y+u-z) _;_:gi.,.g )
6. (a) Using componendo-dividendo theorem, solve: -&}U’z_nL/JL&rMJ:.‘:":__{ s (L) 6
V2 Rafxt -2 s
VP 1 -x? -2
Tx+4 .
(b) Resolve into partial fractions: {3):_,, 2)(x _H]z @?}.@:;/J;z (u)
7. (a) Prove that: (ANB) = A'UB’ i S(4NB) =A'UB’ Sk () .7
U={1,2,3,4,5,6,7.8,9.10} , 4={1,3,5,7,9} . B={2,3,5,7}
(b) The marks of six students in mathematics are as follows dggutit'ﬂ)ﬁé)jlw -y pf.u;}‘»._.} b= (u..v)
Determine varianance SR
¢ No of Students 5 \¥ 1 2 3 4 5 6
Marks o~ 60 | 70 | 30 | 9 | 80 | 42
Jl +cosf  sinf el (U
ify the identity s— A — dopeke ()
8. (a) Verify the identity: 1 Zo0sf 1 —cosd _dEepad () .8
(b) Draw two circles with Radii 2.5 cm and 3 cm. If their centres 57 o/ 1 3l 250l Pufe s (&)
are 6.5 cm apart, then draw two direct common tangents. = '_‘f‘ﬁ; Lf.;/};‘yim}n( 6.5.1»&5&1.;-»
9. Prove that "a straight line drawn from the centre of a circle to bisect the S RIS Il 21 ﬁf:ab .9
chord (which is not a diameter ) is perpendicular to the chord.” “?_t'ﬁjfz}sr,b};h-"!}hé_):ﬁ(_‘.’“
OR L

Prove that any two angles in the same segment of a circle are equal. -ugi.ﬁx.l,cﬁI’.-undisﬁafl:ﬂ"gﬁ..gz‘%:l}fg(_-f_t‘
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